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%I:Note T s questlon paper contalns two palts A"and B. 3 8

‘/ Part A is compulsory which carries 25 marks. Answer all quest1ons 1n"Pa1“t A

Part B consists of 5 Units. Answer any one full question from each unit.
Each question carries 10 marks and may have a, b, ¢ as sub questions.

PART- A
By g, e, . ‘ L, (93 Mar kS) ........ .
;m;"l.a) Deﬁne Vlew N [7] o -
" b)  Whrite the applications of DBMS. o ' 5 el Kiallk
¢)  Define Trigger. ’ [2]
d)  What is join operation in relational algebra? [3]
e)  Define functional dependency. [2]
f)  What are the properties of decompositions? [3]

.2 Define Transaction, I e e 2] ——
__ih What is mul‘nple granularity locking? : B Soot L] B} |
. i) Whatis hashing? ' S i £ ¥ [2}..c |

j)  Give example of B+ trees. [3]
PART-B
(50 Marks)
2. Explam the arch1tectu1e of Database Management Systems Wlﬂ’l a neat d1a01am [10]

b What isa pnmzuy key and fomwn key9

4.a)  Write the aggregate operators in SQL.
b) W1 ite about complex integrity constraints in SQL. [5+5]
OR
Write Relational Algebra-Queries for.the following (“for-Sailors Database) Sa1101s
(51d sname,rating age) Boats(bid, bname 00101) Reselves(md,bld,day’?
(i) Find the Sailorid’s with age over 20 and who have not reserved 4red boat
(ii) Find the names of Sailors who reserved boat 103
b)  Explain tuple relational calculus. [6+4]

What are the problems of redundancy? Explain with example.
What 1s. the solution to the ploolems of redundancy? hxplaln
f : 2 OR e .
What is nomlal for m(? Explain nor mah7anon using ( INF ZNF 3NF).wit

8.a)  Explain the properties of transactions.
b)  What are the concurrent control mechanisms without locking? [5+5]
OR

S ARIES aloouthm7 E\plaln




10.  Explain Indexed Sequential Access Method.
OR
11.a) Explain static hashing.
' b) Explain Extendible hashing.
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